Orden de Operaciones (G)

Realice las operaciones en el orden correcto.

16,7 + (—18,24) + (=38,8) + 6. 17— (34,69+70,25—82,07)
(—24,74)

7.67,94—39.19 — 57,86 +47,13
15,56+ 93,23 4 (—42,71) + 63,57

5. (—79) x (56,95 +85,74—27,13
02.55-68,75+(—19.15) 25,5 > (7T9x( )

. 84,41+ (—33) x 50,26 — 79,85 9. 72,94 —95,03+91,66 + (—50,23)

. 47,29 — (96,38 +92,89) + 12,04  10. —34,56—(—81,62)+50,34 20,4
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Orden de Operaciones (G) Answers

Realice las operaciones en el orden correcto.

16,7 + (—18,24) + (-38,8) + 6. 17— (34,69+70,25—82,07)
(—24,74) = —5,87
= —65,08

7. 67,94 —39,19 — 57,86 +47,13

15,56+ 93,23 4 (—42,71) + 63,57 — 18,02
= 129,65
8. (—79) x (56,95 + 85,74 —27,13)
- :9_2,2585—9658,75+(—19,15)—25,5 — —9.129.24
— 1.654,02 = 19,34

47,29 — (96,38 +92,89) + 12,04 10 —34,56—(—81,62)+50,34 —20,4
= —.129,94 =77
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